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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the
BDP term End Examination December-2019 & June 2020

1. Date of Publication :14/02/2020
2. Last date of Submission of answer script by the student to the study
centre : 07/03/2020

Last date of Submission of marks by the examiner to the study centre :08/04/2020

4. Date of evaluated answer scripts distribution by the study centre to
the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be

accepted after the said five days. : 18/04/2020
5. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :20/04/2020
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ol -=
Group-A
1. Q- g 40w Ted e 2 10 x 2 = 20
Answer any two questions :
A (a) T NS (TEElE @TD) e A FreiE MRS ¢ FenEs sities
SR e T 2
How would you determine the configuration of maleic and fumaric acids
with the help of dipole moment values ?
(b) TROHRS AN IR M T freem wicae Afew W 7o sj28s
FAR Ao 6T 52 |
Describe the method for separation of two optical isomers of a recemic
mixture through preparation of diastereo isomer.
(@ “CO% i feafb C — O Twl- ey A I” i<l <veee | 3+4+3
"The three C — O bond distances of cog‘ radical are same." Explain.
B. (a) °llb H,SO,-a TofEfers wizefea qft sl Siisied CgH g Berm
I | U A9 @A TUPAC 1 13 | PR #lafors qoid stag el #1d<s
PR 2 2+2+2
Isobutene, in presence of conc. H, SO, yields two isomeric alkenes
CgH,g- Write the structures and IUPAC names of these alkenes. How
would you distinguish between them chemically ?
(b) A FIRETRAE SMa TR FIRCGT T A R FRe e | 4
82H5, (C2H5)3((DJ, (C2H5)2(8HCH3, %HS
Arrange the following carbocations according to their increasing
stability with reasons.
® ® ® @
CyHg, (CoHg)3C, (CoHg)yCHCHg, CHg
C. (a) A PRI 76 (5@ (@R TNCAIT AGTO! SHZRAZ AT T |
Explain with two examples of optical activity for organic compounds
having no chiral carbon.
(b) CHg (CHOH),CH 3-8 &3 meso-AIRERCS Al SIferseel AFCed M=

g @R e PHRISTE RS =R SHFIREIBHT (% B0 O, AR T4 |

Draw the Fisher projection formula of meso-isomer of
CH; (CHOH)3;CH4 and point out the stereogenic and achirotopic

center(s) if any in it. Explain.
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Ph
0

I - ]]>=O
CH3CHCO | jii)  Ph 3+4+3

Compare C = O bond distance in the following compounds
Ph
O

I - ]]>=O
ijiy CH3CH,CO iii) Ph

(A) 9T BEH A SRICCRFT (G35 (77 | (A4 ZEGIGEHER F0 (B) (9F1 =
R (B) (¢ H, SO, 7@ TEY I (C) TLH Z| (Crad ML O 5~

D. (a)

e (D) e =T A Zn @@ ¢ T e RGO g2
SRGIEGEIe3T Ceoy 23 | (A), (B), (C), (D) (T ANe T « e [l qdqa
e |

A ketone (A) gives iodoform test. (A) on hydrogenation gives (B) which on
further heating with H, SO, gives (C). Action of O 4 on compound (C)

gives compound (D) which when treated with water in presence of Zn

dust gives two moles of acetldehyde. Identify (A), (B), (C), (D) and
explain the reaction involved.
(b)

I M-CIBAICGIERET (AT M-3R G FAT FAE 2

How would you synthesize
m-dinitrobenzene ?

@95 ¥€d / First Answer :

6+4
m-nitrochlorobenzene

from
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e&qsw&‘
fToret - ¢
Group-B
2. @@ foaf avsw Ted fue ¢ 6x3=18

Answer any three questions :
A (a) [ou-Emepr Fos RiFibee @ @6 2@ o &g

_OH
: \CHO + Siif1f5% Sii2i2gize + Gifoam snifgs <X 5 o

Predict the product formed in the following reaction with proper

mechanism.
/OH
+ acetic anhydride + Sodium acetate reflux > o
CHO

(b) SHFGH TRGE BN SACRE TR Al TI6d @9 @6t we [
AR 2 [esgs e |

Me,,%/ . Me MeI , Me
Br Br
(A) (B)
3+3

Which of the following two compounds react faster with KI in acetone
solvent ? Justify.

Me,,% ) . Me MeI , Me
Br Br
(A) (B)

B. (a) WX Srafds @t vfta S0ay @i @0sl Br SR Al@mel @ 2 R0 Sragd 3 |
CH, =CH-Br &% CH, =CH-CH, -Br

In which of the compounds mentioned below, the Br atom is more
reactive ? Give reason.

CH, =CH-Br and CH, =CH-CH, -Br
(b) EIEFT @R @fge @emibee SoifFe afecnm Somimais @i |
Indicate symmetry elements present in chloroform and benzene.

(c) «f6 WS SR §9-1, 2- CREIHEEIEEET GEE T T G-
ol Tola foq a6 | #If@eliba i e | 2+ 2+ 2

At a certain temperature the dipole moment of trans-1, 2-
dibromocyclohexane changes with the change of solvent polarity.
Explain the observation.




¢ QP Code : 20UA114ECH10

12/24
(@) Moa @R sRwRa s

[B.Sc.-AU-16122 ]
Write absolute configuration of the following compounds —
(i) ,

2R, 3R- GRS nifTe
2R, 3R-tartaric acid
(i) S- ParEfeREe

S-glyceraldehyde

(iii) (R)-2- @IS ShifoTe |

(b)

(R)-2-Bromopropanoic acid

2-fACHIE (AT Fel@ MeC = CMe ALETY [ ¢

< ? 3+3
Write how would you synthesize MeC = CMe from 2-butanol

D. & tor celeler awfe Mtz S a9 | (R e awee @2)

H 6
COOH
ZCHZOH
" —Q

@—»@
NO,

(iv)

2 :
Mention preparation of the following organic compounds with proper
equatlons (Reaction mechanism are not needed :

)

E. (a)

Br

ST il POl ewld SR @ Sy 2 R e Fide Amiere [aneE
TEF A |

How would you prove experimentally that inversion of configuration
occurs at the saturated carbon atom during S\, 2 reaction ?
(b) B®&  HCl-EA

At ffemm CH4CH(OH)CH,SCH,CH, — @=%

CH 4CH(SCH ,CH 5 )CH,OH GTE RERIEIS smief
CH 4 CH(C1)CH , SCH , CH 5 Ge#{s a1 | 120 et |

Both of the compounds

CH ;CH(SCH,,CH

3+ 3
CH3CH(OH)CH, SCH,CH4
3)CH,OH produces

9 and
the
CH3CH(CI)CH, SCH, CH 5 on treatment with dry HCI. Explain

product

same
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F. (a) e Rfgmief sl o ¢

Complete the following reactions :
HBr
(i) CH3_ (|:H_ CH= CHZ Peroxide ?

CH,

2+
- S
(11) C=CH HZSO4 I

)
(iii) BrCH,CH,Br — HC =CH
(b) WICHA SO G0 TR T SR A | Sedd e e |

Arrange the following alkenes according to their increasing order of
stability. Justify your answer.

293 ©eq / First Answer :
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et - o
Group - C
- BIFD A0 Tt fu ¢ 3x4=12
Answer any four questions :
A, TN @eiglba ey @D S s @R @ 2
(A) (B)
Which of the following compound is more acidic and why ?
(A) (B) 3
B. [xfeive @eelr s @G SHi@icts, ShftepiEieins A aq-enEiebs 2 [
P 8 3
Which of the following compounds are aromatic, antiaromatic or non-
aromatic ? Justify.
C. ‘PICoa AN T 2 “CHICT QIR B3 AL 607 510 S (AN 2 1+2
What is cetane number ? What is meant by — "octane number of fuel is
60" ?
D. LW (A 2-SHRE! T FIei oo w0 2 3
How would you prepare 2-aminonathalene from napthalene ?
E. s Rigibes Riea @mierm @ @i e 20 ol o | 3
Write down the products with mechanism in the following reaction :
¢} Zn/H,0
CHy— C=CH—CH,CH, — o —2>?
Ph B
F. fsfafe @eefrs sefems @am R/s Rom 76| 3
Assign R/S-descriptors for the chiral centres present in the following
compounds :
Me
H OH
(a)
H Me
CH,CHg

H_ ,CH,OH
(b) >/////

D CMegq
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o CH=CH,

(c) HO CH(CHj),

CH,

G. Sy2 AEF-F e T 2P stereoelectronic-d3 2GSl SR*F 2 FS-(512a
@R G S 2 AfSFIoH P |

What is the stereoelectronic requirements of an Sy 2 displacement ? Why

neo-pentyl bromide cannot undergo Sy 2 displacement ?
1+2
H. Fxffe snfimelis o aikee e ol g @0 Al | i e | 3
Arrange the following amines in the order of decreasing basicity in water is
solvent. Justify.

CH,;NH,, (CHg), NH, (CH)3 N, NH,

293 Ceq / First Answer :
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